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Web-сервер

Web-сервер

Устройство -
источник

Устройство 
назначения

1. Оповещение 
об изменении 
данных

2. Оповещение 
об изменении 
данных

3. Запрос 
данных

КЛИЕНТ

СЕРВЕР

– запрос – ответ

t1

t1 – фиксированный интервал
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КЛИЕНТ

СЕРВЕР

– запрос – ответ

t2

t2 – переменный интервал
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КЛИЕНТ

СЕРВЕР

– запрос – ответ

– фрагмент данных
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КЛИЕНТ

СЕРВЕР

– запрос – ответ

– фрагмент данных
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КЛИЕНТ

СЕРВЕР

Постоянное соединение
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∈ ∈ ∈



ni nj
(r11,r12,r13)

(r21,r22,r23)

(r31,r32,r33)

(nri1,nri2,nri3)



∀ ∈ ∀ ∈

 

𝑖=1

𝑛𝑙𝑗

𝑓 𝑥𝑖, 𝑣𝑖, 𝑘 < 𝑛𝑟 𝑗𝑘,

∈



 

𝑖=1

𝑙

𝑓 𝑥𝑖, 𝑣𝑖, 𝑘 → 𝑚𝑖𝑛



𝑝𝑚𝑖𝑛 = min
𝑖∈1..𝑝
𝑓𝑖1 , min
𝑖∈1..𝑝
𝑓𝑖2 , … , min

𝑖∈1..𝑝
𝑓𝑖𝑘

𝑝𝑚𝑎𝑥 = max
𝑖∈1..𝑝
𝑓𝑖1 , max
𝑖∈1..𝑝
𝑓𝑖2 , … , max

𝑖∈1..𝑝
𝑓𝑖𝑘

∀ 𝑘; ∀ 𝑣 ∈ 0,+∞ ∶

∃ 𝑞𝑘1,𝑞𝑘2,…𝑞𝑘𝑝 :

𝑓𝑞𝑘1(𝑣) < 𝑓𝑞𝑘2(𝑣) < ⋯ < 𝑓𝑞𝑘𝑝 𝑣
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